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QUESTION 1

An administrator needs to configure dynamic memory control (DMC) for Microsoft Windows XP SP2 virtual machines in
the XenServer pool.

What must the administrator do before DMC can be configured on the virtual machines?
A. Update the static memory range.

B. Upgrade to a XenServer Platinum license.

C. Upgrade the virtual machines to Microsoft Windows XP SP3.

D. Run the param-name=memory-static - {min, max} command.

Correct Answer: C

QUESTION 2

Scenario: An environment, which consists of two XenServer pools, is used to host a web server environment. Pool Two
contains only web servers and is used only during peak load. Pool One contains authentication and web servers. An
administrator must ensure that access to the web servers is available at all times.

What is the minimum requirement to achieve this?

A. Enable failover on Pool Two.

B. Enable high availability on Pool One.

C. Enable workload balancing on Pool Two.

D. Enable Active Directory authentication on Pool One.

Correct Answer: B

QUESTION 3

An administrator needs to modify an application contained within a vDisk that is currently being used by multiple target
devices.

Which option must the administrator select on the vDisk in order to modify the application?
A. Cache on Server

B. Private Image mode

C. Standard Image mode

D. Cache on Device Hard Disk

Correct Answer: B
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QUESTION 4

Scenario: An administrator manages an environment with 200 private virtual machine images that need to be updated.
Snapshots are NOT being used and the virtual machines have been customized by the users.

Which step must the administrator take to update these images?
A. Enable automatic updates.

B. Merge differencing disk files.

C. Change the vDisk access mode.

D. Update each of the vDisks individually.

Correct Answer: D

QUESTION 5

Scenario: A XenServer host has a Fibre Channel adapter which is connected to the corporate SAN. The SAN
Administrator created a new LUN and presented it to the XenServer host.

Which storage repository type does the administrator need to use to be able to create virtual machines on the LUN?
A. Local LVM

B. EXT3 VHD

C. Hardware HBA

D. Software iSCSI

Correct Answer: C

QUESTION 6

Scenario: An administrator is troubleshooting a Provisioning services farm that consists of two identical servers and 100
identical target devices. From the Provisioning Services Console the administrator notices that one of the provisioning
servers has twice the amount of target devices connected compared with the other provisioning server. The vDisk used
and the provisioning servers are configured to use high availability and load balancing.

What should the administrator check to correct load balancing?

A. Power Rating

B. Bootstrap options

C. vDisk access mode

D. Offline database support
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Correct Answer: A

QUESTION 7

An administrator needs to create a template from an existing virtual machine that is installed with Windows Server
2008.

The administrator needs to the virtual machine before converting it into a template. (Choose the correct option to
complete the sentence.)

A. copy

B. export
C. sysprep
D. snapshot

Correct Answer: C

QUESTION 8

An administrator CANNOT use XenCenter to connect to an existing standalone XenServer host that has six virtual
machines running.

What could be causing this issue?

A. NTP is NOT configured.

B. The XAPI Service stopped.

C. The XenServer DNS configuration is incorrect.

D. Communication with Active Directory has been lost.

Correct Answer: B

QUESTION 9

Scenario: An administrator has noticed that all storage repositories in XenCenter are shown as using 0 bytes of space.
The administrator has determined that the XAPI database must be in sync with the local VDIs presented on the
underlying storage substrate.

Which command should the administrator run to resolve this issue?

A. xe sr-scan

B. xe sr-probe

C. xe sr-forget
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D. xe sr-introduce

Correct Answer: A

QUESTION 10

Scenario: In preparation for adding a new iSCSI SAN to the environment, an administrator needs to separate the
storage traffic from the XenServer management traffic. The host is connected to the iISCSI SAN on the 192.168.30.0/24
subnet using NIC 3.

What must the administrator create to separate the storage network traffic?

A. A management interface

B. An external network

C. A bonded network

D. A single-server private network

Correct Answer: A

QUESTION 11

Scenario: An administrator manages six XenServer hosts in a resource pool in which high availability is enabled. The
administrator is notified that host fencing occurred.

Which two reasons could be causing the issue? (Choose two.)
A. CPU utilization reached 90%.

B. The resource pool is overcommitted.

C. The shared storage repository was disconnected.

D. There was a XenServer management network outage.

Correct Answer: CD

QUESTION 12

Scenario: An administrator is in the process of updating a database server on a virtual machine and would like to
preserve its current state in case something goes wrong. The virtual machine is being used in a production environment
and needs to remain online.

What can the administrator do to meet the requirements of the scenario?

A. Preserve the virtual machine by exporting it to an external drive.

B. Enable high availablity to ensure the virtual machine remains online.
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C. Perform an online backup by taking a snapshot of the virtual machine.
D. Make a copy of the virtual machine in case the original needs to be deleted.

Correct Answer: C

QUESTION 13

Which item in the Provisioning Services Console will the administrator need to configure to delete a machine account
from the Active Directory domain?

A. Farm

B. vDisk

C. Server

D. Target Device

Correct Answer: D

QUESTION 14

The development team requires that a virtual machine be restored to the state it was on the previous day, but will need
parallel access to the current state of the virtual machine.

What can an administrator do to meet the requirements of the scenario?

A. Revert the virtual machine back to the previous snapshot and start it.

B. Create a new virtual machine from the previous snapshot and start it.

C. Make a copy of the virtual machine, revert it to the previous snapshot and start it.

D. Take a snapshot of the current state of the virtual machine and revert it to the previous snapshot.

Correct Answer: B

QUESTION 15

An administrator is setting up the XenServer hosts in an environment to boot from SAN. In which BIOS would the
administrator go to enable XenServer to boot from SAN?

A. Host
B. Array controller
C. Network interface card

D. Primary host bus adapter
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Correct Answer: D
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